Philosophy of Religion Day 09, 4
Philosophy of Religion Day 9:		Evolution and the Teleological Argument

	Content:
1. Activity: Observing order in nature
2. Evolution
3. Evolution and the teleological argument
	Method:
1.Activity (15 minutes)
2. Lecture (10 minutes)
3. Lecture and discussion (25 minutes)




Instructor’s Introduction: Today’s objective is to understand how the theory of evolution introduced a new alternative explanation of the order in nature and how that affects the teleological argument.



Goals and Key Concepts:
1. Students should understand the basic ideas of the theory of evolution.
2. Students should understand how evolutionary theory presents an alternative explanation of the order in nature from intelligent design and randomness.
3. Key Concepts: Chance, randomness, function, evolutionary theory, tree of life, natural selection, urvival of the fittest, fossil record






1. Activity: Observing Order in Nature
Have students walk around outside and take notes on the order they see in nature. In particular, they should pay attention to adaptations organism have to their environments and the way that their body parts function to allow them to survive. For example, if they see birds, students should make notes about how they are adapted to fly and how the wings work to do that. Students needn’t try to develop any new scientific insights here; this is just a chance for students to reflect a bit on the natural world and get in a mind frame to think more carefully about evolution.

2. Evolution
Scientists and philosophers of biology have used modern evolutionary theory to argue against the teleological argument. While oversimplifying a bit, we can consider the theory of evolution to be based on two main postulates:

1. Tree of life: All living creatures have evolved from one (or maybe a few) original simple life form(s).
2. Natural selection: Organisms survive at different rates based upon survival of the fittest, according to how advantageous (or detrimental) genetic differences are, shaping the tree of life. (Natural selection serves to preserve and accumulate minor advantageous genetic mutations.)

It was really the second principle which was groundbreaking in Darwin’s theory. The idea of evolution was not new, but Darwin introduced a powerful mechanism capable of explaining how random variation could lead to functional adaptation and complex systems. Descendent organisms of the same parents will vary from each other. This is due to random processes. In Darwin’s time it wasn’t understand exactly how the variation occurred, but we now know more about genetics. Regardless of the cause of the random variation, Darwin realized that the differences would give the descendent organisms differing probabilities of surviving to successfully reproduce—the fittest organisms would survive while those less well adapted would not. Natural selection—the differential rates of reproductive success based on genetic differences—slowly (over millions of years) create and shape the tree of life. In particular, while the variation in descendent organisms is due to random processes, the retention (or rejection) of these variations is not random. Instead, natural selection through survival of the fittest is a nonrandom process which filters out detrimental changes but preserves and accumulates advantageous changes. These advantageous changes thus bring about adaptations—changes which improve some function for the organism and allow it to adapt to the environment. 

One example of an adaptation is the change in color of the peppered moth in England during the industrial revolution. The vast majority of peppered moths had been light in color, which camouflaged them against light colored trees and lichens. But during the industrial revolution many lichens died out and the trees became blackened by soot. As a result, those peppered moths which were darker flourished while the lighter colored moths mostly died off. 



3. Evolution and the Teleological Argument
If we go back to the teleological argument, it asks: what is the best explanation of the order that we see in the world? In Paley’s day, the options seemed to be only either that there is a designer or that randomness created it. Paley used an analogy to the argument that it’s most plausible that the explanation for the existence of a watch is that there was a watchmaker to suggest that there being a designer of the world is the most plausible explanation for the order observed in the world. While Hume argued that the analogy was weak, and thus there being a designer wasn’t a very satisfying explanation, it wasn’t clear that randomness was a better alternative. Darwin’s theory of evolution introduced a third possible explanation. How well does this explanation fair?

In terms of plausibility, immediately it seems to be superior to randomness. Whereas it’s hard to see how the effective functions of organism could come about from pure randomness—just as we would be incredulous for a watch to be created by wind, rain, etc., acting on rocks—with the theory of evolution we gain a clear mechanism for how adaptations get selected. It’s no longer random. It makes sense. 

Furthermore, the theory of evolution matches up with scientific observations of the world better than does traditional claims that there was a designer, which we’ll call traditional creationism. For example, scientific observations and our knowledge of chemistry, physics, and geology suggest that the earth is several billion years old, not the six thousand or so years old claimed by Biblical literalists. Creationists could reject the results of modern science, but that seems like a rather radical and dubious move to make. It’s hard to see how that improves the plausibility of their explanation. 

There also seems to be plenty of evidence in the form of the fossil record which suggests that evolution has occurred. For example, there are fossils of species which existed in the past but no longer do, such as saber-tooth tigers and wooly mammoths. Traditional creationism supports the idea that all species were created at the same time. That seems implausible given the paleontological evidence. Granted, creationists could claim that the fossil record was created by God to test our faith, but, again, that only seems to make it less plausible than the simpler explanation that the fossil record reflects an evolution of species.

Another point in favor of the evolution explanation is that many species are not designed in a perfect way. For example, ostriches have wings even though they can’t fly. The wings don’t serve a function. Why would a perfect, omniscient and omnipotent designer have given them wings? On the other hand, it makes sense given natural selection. The ostrich most likely descended from species which could fly. The ostrich developed stronger legs that made it unnecessary for it to fly. Though they no longer played the same role as before, the wings may have still been useful or at least not detrimental, so they didn’t evolve away. Likewise, penguins don’t use their wings to fly, but now use them for underwater locomotion. Though they work well for the task, if a designer had created penguins from scratch, one would think they’d have flippers or something more directly intended for underwater locomotion. Similarly, the human appendix is a vestigial organ—it isn’t necessary, but people have them because they played a functional role for an ancestor species. All of these meshes well with evolutionary theory, but not with creationism.

Homologies also support evolution. Homologies are cross-species patterns. For example, Darwin noted that, “[W]hat can be more curious than that the hand of a man, formed for grasping, that of mole for digging, the leg of the horse, the paddle of the porpoise, the wing of the bat, should all be constructed on the same pattern, and should include the same bones, in the same relative positions?” These structures have different functions, so one would think a designer would design them differently. But it makes sense that the structures have similar patterns if the species evolved from common ancestors. Similarly, there are cases of different structures for the same function that we observe in nature. The wings of birds and of bats are very different, though they both are for the function of generating flight. Why wouldn’t a designer create a perfect wing and use that general design for all flying species? But it makes sense for evolution given that we believe birds and bats developed from different ancestors.

Discussion: Lead a discussion about whether evolutionary theory is a better explanation of the order in nature than there being an intelligent designer. Could they be merged? Could an intelligent designer have guided evolution? Does Occam’s razor (simplicity) support naturalistic evolution over a designer guiding it?


Homework Assignment: Have students read the Rebellion excerpt from Dostoevsky’s The Brothers Karamazov, available here: http://instruct.westvalley.edu/lafave/dostoevsky.html. 
